Multiplication et Division par 10* (I)

Trouvez chaque produit ou quotient.

6 X 101 = 19 X 10t =
73 x 101 = 65 = 101 =
83+~ 101 = 54 + 10! =
78 x 10 = 75 x 10 =
25+ 10" = 48 x 10" =
28 x 10 = 31 x 10* =
73 x 10 = 33 x 10* =
4 x 10 = 45 x 10 =
29 =10 = 65+ 101 =
57 =10 = 12 - 10 =
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Multiplication et Division par 10" (I) Solutions

6 x 10' =60

73 x 10' =730

83 +10'=8,3

78 x 10* =780

25 +-101=25

28 x 10' =280

73 x 10' =730

4 x 10 =40

29 +10'=29

57 ~101=5,7

Trouvez chaque produit ou quotient.

19 x 10* =190

65+ 10" =6,5

54 -101'=5/4

75 x 10' = 750

48 x 10' = 480

31x10'=310

33 x 10' =330

45 x 10* = 450

65 + 101 =6,5

12+10'=1,2
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